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;: Make sum of a sequence of numbers:
LOOP IN AX copy ax,#0 imnediate ;5 Sum of a sequence of numbers. IN AX
ADD AX,SUM L1 copy ax,ptr CALL P1
COPY  SUM,AX copy bx , data+c(ax) Indirect L1 OUT AX
4 > displacenent
COPY BX,TIMES 55 negative means end of data copy bx,c(ax) END
SuB BX,ONE cmp bx,#0 H negative means end of data P1 ADD AX,#10
COPY  TIMES,BX ib L2 cmp bx, #0 CALL P2
CMP  BX,ONE add bx, sum ib L2 SUB AX,#10
JINB LOOP copy sum, bx add bx,sum RTN ’
COPY  AX, SUM H each data is 2 byte long copy  sum,bx P2 COPY BX.AX
ouT AX add ax.#2 i: each data is 2 byte long s
END jmp Lt add  ax,#2 ADD BX,#1
ONE 1 L2 copy  bx,sum Jmp L1 MUL  AX,BX
TIMES 5 L2 copy bx,sum RTN
out bx
SuM 0 end out bx
sum 0 end
data 1 sum 0 A04.p83
A01.p88 2 ptr data
3 data 1
4 2
5 3
-1 4
5
1
A02.088 A03.p88
i: Chapter 9 sample program in the text Chapter 9 sample program ;; Chapter 9 sample program in the text
IN AX Data MO, M1, M10 are added. in ax
;; factorial out AX COPY AX,MO copy ml,ax
in ax sample01.p88 L1 ADD AX,M1 sub ax,ml
call fact out AX cmp ax,ml
out ax ;; Chapter 9 sample program in the text cuP AX,N10 B . #f ax < ml then goto next
end in ax JB L1 jb next
fact cmp ax,#2 copy ml,ax END sub ax,ml
ib L1 mul ax,ml Mo 0 copy ml,ax
push ax out ax. M1 1 next copy ax,ml
sub ax,#1 M10 10 out ax
call fact sample02.p88 sample05.p88 sample06.p88
pop bx
mul ax, bx ;; Chapter 9 sample program in the text
rtn in ax ;3 Chapter 9 sample program ;; Chapter 9 sample program in the text
L1 copy ax,#1 copy a,ax ; Data are coded in immediate data IN AX
rtn in ax COPY AX,#0 CoPY M1,AX
copy b,ax L1 ADD AX, #1 suB AX, M1
copy ax,a out AX CoPY ZERO,AX
div ax,b cMP AX,#10 COPY SUM, AX
out ax JB L1 COPY AX,M1
LOOP CMP AX, ZERO
sample03.p88 sample05b.p88 B FIN
ADD AX, SUM
; Chapter 9 sample program in the text (I:EPY igM,AX
;5 You should interrupt the infinite loop.
L1 ADD AX,A Jup Loop
P Ll’ FIN COPY AX, SUM
ouT AX
sample04.p88 sample07.p88
hanoi(a,b,c.n)
hanoi(a,c,b, n-1) . -
write("a->b" ; Linear List
hanoi(c.b,a n-1) LooP
in ax in ax
push ax ; 4th arg cmp ax,#0
2 c ’
push o : 3rd arg jb WRT
copy ax,#3 copy data,ax
push ax ; 2nd arg copy ax, root
copy ax,#1 SRCH
5:7'.‘ ::nm 5 1st arg copy bx,2+c(ax); bx = ax->next
add dx.#8 : pop x4 cnp bx,#0 5 if bx == null
end wrt copy ax,4+c(cx) ; 1st arg ib INSERT
nul ax,#100 copy cx,c(bx) ; cx = bx->data;
hanoi push cox copy bx,6+c(cx) ; 2nd arg cmp cx,data
cony ;:fg&zs* :;:’":r add ax.bx jnb INSERT  ; if (bx->data > data)
b ax.#l ! ° our e copy ax, bx :ax = bx
cmp ax,#1 copy ax,10+c(cx) ; 4th arg Jmp SRCH
ib wre sub ax,#1 INSERT  copy cx,ptr
cmp ax, #1 copy dx,data WRT
push ax : new 4th arg b endhanoi copy c(ex), dx
copy ax,6+c(cx) : 2nd arg S copy ax, root
push ax : new 3rd arg push ax ; new 4th arg copy 2+c(ex) ,bx WwLOOP copy ax,2+c(ax)
copy ax,g+c(ex) 3 3rd arg copy ax,4+c(cx) ; Ist arg copy 2+c(ax), ex cmp #0
push ax ; new 2nd arg push ax ; new 3rd arg add cx,#4 ib EXIT
copy ax,a+c(cx) : 1st arg copy ax,6+c(cx) : 2nd arg copy ptr,cx J 5
push ax ; new 1st arg push ax * new 2nd arg Jnp Loop copy X, c(ax)
call hanoi copy ax,8+c(cx) - 3rd arg out bx
add dx,#8 ; pop x4 push ax ; new 1st arg Jmp WLOOP
call hanoi EXIT END
add dx,#8 ; pop x4
endhanoi data o
pop cox root dummy
rtn dummy 0
-1 5 null
ptr pool
pool res 400 ; max 100 items




